Ejercicios con polinomios

EI Dados los polinomios:

P(x) = 4x2 — 1

Q(x) = %3 — 3x? + 6w — 2

R(x) = 6% + % + 1
S(x) = 1/2x% + 4
T(x) = 3/2x% + &

Uix) = %% + 2

Calcular:
Z P(x) + Q (x) =
E P(x) — U (x) =
E PO + R (x) =
E 2P(x) = R (x) =
E S(x) + T(x) + U(x) =
E S(x) - T(x) + U(x) =



Dados los polinomios:

P(x) =

4 _ox? —Fx — 1

=

Q(x) = %7 — 6x% + 4
R(x) = 2x% — 2y — 2

Calcular:

P(x) + Q(x) — R(x)
P(x) + 2 Q(x) — R(x)
Q(x) + R(x) — P(x)

EI Multiplicar:

(x4—2x2+2)-(x2—2x+3)
(3x2 — 5x) « (2x% + 4xZ — w + 2)

(2x2—5x+6)-(3x4—5x3—6x2+4x—3)



